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QUESTION 1

A customer is analyzing data using HPE InfoSight for HPE SimpliVity. They found that the Total Data Stored for a VM is
significantly higher than the VM Storage Usage in vCenter. How do you explain these findings? 

A. The VM is configured with RF3. 

B. The Total Data Stored includes VM data, local backups, and remote backups. 

C. The Total Data Stored includes the datastore size and its replicas. 

D. The VM was thick provisioned. 

Correct Answer: A 

 

QUESTION 2

In an HPE SimpliVity 10-node cluster, a simultaneous increase of 10 requests across several VM caused a surge in 10
traffic in a single node. Which HPE SimpliVity feature can evenly distribute the 10s across the cluster? 

A. Resource Balancer 

B. Management Virtual Appliance 

C. Arbiter 

D. Intelligent Workload optimizer 

Correct Answer: C 

 

QUESTION 3

You are designing an HPE SimpliVity solution with HPE Storence. 

Which design aspects will you evaluate to optimize replication performance? 

A. Performance optimization features provided by VMFS datastores comapred to NFS datastores 

B. Number of the HPE SimpliVlty clusters and Catalyst stores used 

C. Intelligent Workload optimizer settings 

D. HPE SimpliVity model used 

Correct Answer: A 

 

QUESTION 4

A customer is planning HPE Storence integration with HPE SimpliVity. What is a major consideration for this
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integration? 

A. Number of HPE Storence/SimpliVity integration licenses 

B. Number of the stores configured with HPE Simplicity 

C. Physical location of HPE Storence 

D. Limited support from software-optimized HPE SimpliVity models 

Correct Answer: D 

 

QUESTION 5

Refer to exhibit: 

You are using Restore Virtual Machine for a given virtual machine. Which result is achieved by thrs operation? 

A. Virtual machine boot partition mapped as IS image to another VM 

B. New snapshot added to existing virtual machine 

C. New linked-clone created 

D. New virtual machine created out of this backup 

Correct Answer: C 
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